Class 3 English |
Chapter 5 celebrating earth day

A. Tick(®) the words that will complete the sentences.
1. Miss Karnik told the class about
a. Earth Day.
2. The children would have a
c. Fancy dress competition.

3. Shabnam khan talked about
b. Saving electricity.
4. If we recycle newspaper, each family can save
a. Two tress every year.
5. We mustnot __ water
a. Pollute or waste.

B. Answer these questions.

1) How did the children celebrated Earth Day?
The children celebrated Earth Day by taking part in a fancy- dress competition
in school
2) What did each child dress up as? Make a list.
The children dressed up as follows
1. Arvind Gopalam as a bus
Shabnam Khan as a bulb
Gopal sinha as a garbage bin
Teresa Lewis as a tiger
Binita Tuki as a tree
6. Jasmshed Nariman as a water
3) Where was the programme held? Who watched the programme?
The programme was held in the hall and was watched by both parents and
teacher.
4) Whose massage did you like the best? Why?
I like Gopal Sinha's message the best because he tells us how waste can be
recycled.
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C.
1. Question number 1 you will do it by yourself .
2. Discuss and write two things we can do to save tigers.
Two things we can do to save tigers are.

1. We can plant more trees so that tiger remains plenty of forest land for the
tigers.
2. We can spread the message to stop the hunting of tigers.



1. Children love to travel by train.
2. We have a holiday for Pongal.
3. The children played in the garden all day.

4. Have you paid for the boons?

1. Jaipuris called the Pink City.
Is Jaipur called the Pink City?

2. There are many forts and palaces in Jaipur.
Are there many forts and palaces in Jaipur?

3. We will ride on elephants in Amer Fort.
Will we ride on elephant in Amer Fort?

4. We can visit the local markets in the town.
Can we visit the local markets in the town?

a) Alittle green frog lived under a leaf.

b) How many minutes are there in an hour?

c) Mummy will take me for a haircut tomorrow.
d) How many teeth does an alligator have?

e) Name anisland in the India Ocean.



CLASS:- 3
SUBJECT :- ENG-II
CHAPTER :- 10 ADJECTIVES

A. What is an adjective? Give an example.
Adjectives are describing words. They describe persons, animals or birds, places or things.
For example :- The tea is hot.

C. Underline the adjectives in the following sentences :
(only answers)

Seven
New
Old, deep
Lovely
Fifteen
Juicy
Bitter
Intelligent, lazy
Sweet
. Soft, green
. Clear, blue
. Red
. Honest
. Dark, cloudy
. Wet, slippery
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E. There are twelve adjectives in Column A and twelve nouns in Column B. Match the
nouns and their adjectives :

Column A. Column B (answers)
1. Dark. Night
2. Green. Grass
3. Easy. Question
4. Smart. Child
5. Fresh. Fruit
6. Deep. Sea
7. Blue. Sky
8. Narrow. Street
9. Twelve. Months
10. Tall. Tree
11. Long. Rope

12. Sweet.

Voice



F. Fill in the blanks with adjectives. Take these adjectives from those given
below: (only answers)

Red
Careless
Heavy
Woollen
Honest
Pure
Curly
Brave

. Seven
10. Large
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Class: 3 Chap:4 (Plants around us)
1. Choose the correct answer.
I. Trees

II. Climbers.

lll. Tape grass

IV. leaves

V. Cotton.

2. Fill in the blanks.

a. Herb.

b. Climbers.

c. Trees.

d. Shrub.

3. What type of plants

a. Herb.

b. Shrub.

4. Name one plant that grows best in
a. Lotus

b. Cactus.

c. Fir

d. Coconut

5. True or false.

a. True.

b. True.

c. True

d. True.
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e. True

F. False.

6. ,Name one plant each that gives us these
a. Orange

b. Cotton

c. Rubber plant
d. Perfume

e. Tulsi.

f. Sunflower

7. Ans: Plants affect the weather of a place by helping to produce rain keep planet from getting
over heated.

8. Ans: Shrub have hard and thin stem Eg: Rose plant. But herb have soft green stem.Eg:
Tomato.

9. Ans: We should plants trees around our house because it cleans the air and makes our house
look beautiful.

10. Ans: cotton- clothes. Jute: sacks and ropes.
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Class:3 ENGLISH:2 CHAPTER:8(NOUNS GENDER)
D. Write the words to the feminine gender.
King- queen

Uncle- aunt

Prince- princess

God- goddess

Sir- madam

Peacock- peahen

Cock- hen

Lion- lioness

Bull- cow

Horse- mare.

E. Underline the nouns in these sentences.
1. Heroin. F

2.Husband. M

3. Priest. M

4. Ladies. F

5. Tigress F

6. Sir. M

7. Headmistress. F

8. Mare. F

F. Complete these pairs

1. Washerwoman.

2. Husband

3. Goddess.
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4. Hen

5. Uncle.
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